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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 798 2) 565 3) 359 4 222
- 650 - 240 - 206 -_123 5
3
4,
5 692 6) 672 7 994 8 908 >
- 676 - 608 - 458 =536 6
7.
8.
9 328 100 894 11) 599 12) 329 9.
- 281 -673 - 541 - 207
— — — 10.
11.
12.
13) 629 14) 839 15 789 16) 850 13.
-114 - 555 - 663 - 750
- S - 14.
15.
16.
17) 446 18) 591 19) 843 200 682 17
-137 -468 - 646 —_299
18.
19.
20.
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers

1 148
1) 798 2 565 3 359 4 222

- 650 - 240 -206 ;123 2 325
148 325 153 99

3 153

4 99

5 692 6) 672 7 994 8 908 > 16

- 676 - 608 - 458 - 536 . 64
16 64 536 372

7 536

8. 372

9 328 100 894 1) 599 12) 329 9 a7

-281 -673 -541 ;207 221

47 221 58 122 10

1. 58

12. 122

13) 629 14) 839 15) 789 16) 850 13. 515
- 114 - 555 - 663 - 750

515 284 126 100 4. 284

15, 126

16. 100

17) 446 18) 591 19 843 20) 682 - 309
- 137 -468 - 646 ;299

309 123 197 383 18. 123

19. 197

20. 383
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Cﬂ2—1 3 Digit Minus 3 Digit

Name:
Use subtraction to solve the following problems. Answers
325 536 515 148 284
126 47 153 372 221 1.
99 16 58 64 122
2,
) 798 2 565 3 359 3.
- 650 - 240 - 206
S - 4,
5.
6.
4 222 5 692 6) 672
-123 -676 - 608 ’
8.
9.
) 994 8 908 9 328 10.
- 458 - 536 - 281
- - S 11.
12,
13.
100 894 11) 599 12) 329
- 673 - 541 - 207 “-
15.
13) 629 14) 839 15 789
- 114 - 555 - 663
M odified 1-10 | 93[87|80| 73| 67| 60| 53|47 |40 33|
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